® B requnred rate of return

=Y 5 predetermnned overhead cost rate

k-free rate

B
-

Cleagr my choice
=
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: -' xcluding the deprecation) each year for seven years The
' oroﬂon s income taxrate is 20% Calculate the total




Actual Results

Static Budget

volume (in units) 12,000 15,000
Sales revenues $660,000 $750,000
\Variable costs 307,200 360,000
Fixed costs 274,800 | 270,000
Operating profit S 78,000 $ 120,000

The static budget variance for variable costs is:




‘ o | 0 J
any can predict with virtual certainty the demand for its products. Delinz's
rchase-order lead time is 3 weeks and the economic-order quantity is 150




$200,000
lJuty $100,000
August $150,000 ‘

How much are Accounts Receivable at the end of August?
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“ \‘ ‘H
hich of the follawmg is true of mandgenal accounting lnforrnahon

Select one:

O A. It focuses on the past-oriented financial performance of a compa
® B. It is primarily used by managers and investors to make internal busx
O C. It only measures the cash transactions of a company.

O D.ltis prepared based on cost-benefit analysis.

I Clear my choice



e exceeds The mﬂahon ra’re
O C. exceeds the risk-free rate

O D. exceeds the accrual accounting rate of return

Clear my choice




Actual

180,000 units

185,000 units

1,080,000

$1,295,000

$ 800,000

$ 775,000

il ‘
il

“[Iﬁim:;;‘@" §eieci one:

e

i O .q_.1$105,000 fc:vordb!e







 Select one:
LA 13%

O B.27.4%




O B. it is driven by rules.

O C. it is prepared for shoreholders

@ D. it provides reasonable and timely es’r;ma’res

Clear my choice
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wmg mformahon is for Md( Cbrﬁ.‘ sqlllng price $60 per unit, varioble‘co  $50 fN'

Select one:
O a.8,150 units

: ® b. 16,300 units
O ¢. 6,520 units



 Select one: |
@ q. operating income will decrease by‘27%

O b. fotal fixed costs will decrease by oAl

() ¢. total fixed costs will increase by 27%

] l d. operating income will increase by 27% .

ar my choice | |






Je ﬂt the en oi ’the iour—\/eur period. \Nho\ s the ne\ presen\ vawe ()\ \\a ‘







purchoses are as follows: March $75,000; April $20,000; May $85,000. ‘
. How much will be reported for Accounts Payable for material purchases as of the

 Select one:
O a. $42,500

O b. $78,500







I‘

Select one:
@ A.internal rate of retun me’rhod




\. d Furr n‘ure compcmy praduces a specml’ry wood fur
v;informc'hon available concerning its inventory items:Relevant
- Relevant carmrying costs per unit: Required annual return on in
unit $1.60. Annual demand is 15,000 packages per year. The ¢
What are the total relevant costs, assuming the quantity orde

Select one:

. a. $3.971
'.‘~”' 'ﬁ .750




‘Wh h of t e following is a reasonable order in which to prepare budgets?

Select one:

O a. Budgeted income statement, sales budget, cash receipts and disbursements bu‘dg“’;‘ev’r;
O b. Labor budget, budgeted income statement, sales budget. |

O c. Cash receipts and disbursements budget, capital acquisitions budget, labor budget.

@® d. Sales budget, production budget, material purchases budget.

Clear my choice

Development of a budget

Select one:

) a. guarantees that the company will be profitable.
® b. enhances communication and coordination among managers.
O c. isrequired by GAAP,

L) d. is a task best completed by the controller working alone.

Clear my choice







_ If the net present value for a project is negotivé,Which of the folldwing\ ‘

Select one:
O A. the project should be accepted because ﬁs expected ro’re of re’tu
discount rate | L

O B. no enough information to answer



* What is Plat's break-even point in sales dollars for the current year?

Select one:
O a. $470,000

@® b. $630,000
O c. $252,000
O d. $420,000

Clear my choice

Among different types of costs associated with inventory, the incoming freight charges of inVan o1
are

Select one:

® q. purchasing costs

) b. stockout costs



5.
,,,,,

1. Accrual accounting rate-of-retum
2. Internal Rate of Returmn (IRR)
3. Payback Period

4. Net Present Valuae (NPV)

Select one:
O A land 3

O B land?2
® C.2and 4

Y D. 1 only

Clegr my choice
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_?’en‘t machine is expected to last for seven years. Of




T ’ Furniture company produces a specialty wood
urniture product, and has the following information available
zeming its inventory items:Relevant ordering costs per

e, s






- [Fixed expenses 110,000

Net loss $,(40,000)

be allocated to other product lines. If management decides to eliminate this prod
company’s net income will




